QP Revision Answers
MA – Financial Reporting

Revision 2

Provisions, Contingencies and Events after the Reporting Period

Answer 1
(i)
Contract with CTI

According to the contract, the amount of the revenue from the remaining 40 units would be HK$12,920,000 (HK$380,000 × 20 + 380,000 × 70% × 20).

The total cost of the 40 units would be HK$11,520,000 (HK$288,000 × 40). Therefore, a gross profit of HK$1,400,000 would be resulted when MAL completes the remaining obligations under the contract.

Since the contract is not an onerous contract, no provision at 31 December 2006 should be made for the future completion of the contract according to HKAS 37 Provisions, Contingent Liabilities and Contingent Assets.

It is NOT appropriate to make a provision of HK$440,000 [(HK$380,000 × 70% - HK$288,000) × 20] for the loss related to the delayed delivery of the 20 units, since the unfinished part of the contract should be considered as a whole.

(ii)
Restoration of Showroom

The past event leading to the obligation to restore the premises was the renovation and decoration that changed the premises from its original condition to the present condition.

The obligation was a present obligation at 31 December 2006 since MAL had already changed the condition of the premises.

Accordingly, a provision for restoration of the premises should be recognised at 31 December 2006.

Under HKAS 37.36, the amount recognised as a provision shall be the best estimate of the expenditure required to settle the present obligation at the balance sheet date.

HK$800,000 is to be incurred at the end of the lease term, not at the end of reporting period. Under HKAS 37.45, where the effect of the time value of money is material, the amount of a provision shall be the present value of the expenditures expected to be required to settle the obligation. Accordingly, an estimate of the present value of HK$800,000 at 31 December 2006 should be calculated for the provision to be recognised.

According to HKAS 16 “Property, Plant and Equipment”, the initial estimate of the costs of restoring the showroom should be included as cost of the showroom, i.e. leasehold improvement.

(iii)
Patent infringement

The past event leading to the highly probable loss of HK$120,000,000 was the alleged infringement of DCS.

The obligation was a present obligation at 31 December 2006 since MAL had already committed the alleged infringement.

There were material uncertainties as to the timing and the amount of the obligation until the settlement of the legal case, although MAL’s lawyers were of the view that the loss of HK$120,000,000 was highly probable.

Therefore, MAL should recognise a provision of HK$120,000,000 at 31 December 2006, which represents the best estimate of the uncertain amount of the loss.

MAL should disclose in the notes a brief description of the nature of the provision, including:

· an estimate of its financial effect, i.e. HK$120,000,000;

· an indication of the uncertainties relating to the amount or timing of any outflow (i.e. it was highly probable according to the lawyers’ opinion and the expected date of settlement); and

· the possibility of any reimbursement from the DCS developer.

The potential recovery from the DCS developer is a contingent asset, which is a possible asset that arises from past events and whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of MAL.

Although it is highly probable that MAL will succeed in recovery of HK$100,000,000 from the DCS developer, according to HKAS 37, MAL should not recognise any asset until the realisation of the recovery is virtually certain.
	Examiner’s comment:

This question tested candidates’ basic understanding of the provisions, contingent liabilities and contingent assets under HKAS 37.

For the contract with CTI, many candidates considered that the failure to deliver all the contracted units would automatically result in a provision being recognized. Even for those who managed to determine that no provision was required, some of the explanations were conceptually incorrect.

For restoration of the showroom, many candidates recognized that the provision should be accumulated throughout three years from nil to HK$800,000, but they failed to understand that the past events leading up to the obligation to restore the premises were the renovation and decoration, which had been carried out on 31 December 2006, and accordingly an estimate of the present value of HK$800,000 should be calculated.

For the patent infringement, there were many candidates who failed to identify that a possible obligation with high probability should require provision, instead of being classified as a contingent liability. Other candidates correctly recognized that a provision was required, but came up with an incorrect answer by netting the provision with the contingent asset on the potential recovery for the developer. For the disclosure requirement, the expected answer was for a tailor-made disclosure for each type of provision to be made, rather than the general requirements under HKAS 37.


Answer 2
(a)

Under HKAS 37, a provision should be recognised when and only when:

An entity has a present obligation (legal or constructive) as a result of a past event, and it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation, and a reliable estimate can be made of the amount of the obligation.
According to HKAS 37.19, it is only those obligations arising from past events that exist independently of the reporting entity's future actions that are recognised as provisions.
The provision for the late delivery penalty is a provision for future operating losses as the delivery date of the 7,000,000 units of rechargeable battery is 31 August 2008.
Since the delivery will be expected on 10 September 2008, the compensation per unit will be HK$0.1 per unit (10 days x HK$0.01) and the total compensation will be HK$700,000.
This compensation will reduce the expected gross profit, but will not result in an onerous contract for DCL.
Accordingly, no provision is required for this late delivery penalty as at 30 June 2008.
(b)

As at 30 June 2008, DCL has no obligation to perform the safety inspection of the production line, accordingly no provision should be recognised.
The cost for the inspection should be recognised as expense when incurred.
OR

The information provided in the question has not stated whether DCL, by an established pattern of past practice, published policies or a sufficiently specific current statement, has indicated to other parties that it must carry out the safety inspection on an annual basis and therefore, it has created a valid expectation on the other parties in respect of this activity.
If there is evidence to prove the above, this can be considered as a constructive obligation and therefore a provision should be provided.
(c)

Any future loss on sales of aged finished goods should be considered in the measurement of the net realisable value of the inventory under HKAS 2 instead of HKAS 37.
The net realisable value is the estimated selling price in the ordinary course of business less the estimated costs of completion and the estimated costs necessary to make the sale.
Sales of finished goods at a price below the cost immediately after the balance sheet date (July 2008) is a strong indicator of the amount of net realisable value at 30 June 2008.
Accordingly, this should be recorded as a write down of inventories and no separate provision should be recognised in the current liabilities.
(d)

DCL has an obligation to pay the bonus to two executive directors in accordance with the directors' service contract.
It should be possible to make a reliable estimate of the provision amount based on the amount of profit before tax and the accrued bonus.
Accordingly, a provision should be recognised as at 30 June 2008.
	Examiner’s comment:

This question required candidates to discuss the appropriateness of the provision recognised in four different situations. A significant portion of the marks were allocated to the analysis of the facts given, argument for or against the provision recognised and the explanation of the correct accounting treatment. Many candidates might come up with a correct conclusion but failed to give a satisfactory reasoning behind to back up their arguments and therefore scored only minimal marks. Above average candidates could demonstrate a good understanding of the application of HKAS 37. Many of them could distinguish between a past event and a future operating loss, but very few were able to consider the inventory should be stated at the lower of cost and net realizable value under HKAS 2 in answering part (c). Poor candidates had copied a huge load of provision theories from the CLP but made the wrong interpretation on contractual obligation, constructive obligation and onerous contract. The performance of part (d) was relatively better than the other three parts as it was a case of contractual obligation issue.


Answer 3
A provision should be recognised when and only when:

· An entity has a present obligation (legal or constructive) as a result of a past event;

· It is probable that an outflow of resources embodying economic benefits will be required to settle the obligation; and

· A reliable estimate can be made of the amount of the obligation.

Provision for discount coupon

XP had the obligation to give the discount upon issue of the letter and before the expiry date.

As XP is still able to make a profit, after the deduction of HKD500, for the sales of the new printer, there are no outflow of resources nor transfer of economic benefits.

It may be possible for XP to make an estimate of number of new sales with the usage of the discount coupon should there have been a similar scheme in the past.

Conclusion:

A provision should only be recognised when all the conditions under HKAS 37.14 are met.

No provision should be recognised at 31 March 2013. Accordingly, the provision for the discount coupon of HKD750,000 should be reversed.
Warranty provision

XP has a contractual obligation to provide the free of charge repair service.
XP needs to incur and has incurred the cost for labour and parts replacement for the repair service, there will be a transfer of economic benefits
It is presumed that XP can make an estimate of the amount to be incurred for the provision of the repair service in respect of the product sales made in the year based on the historical performance.
Conclusion:

A provision should be recognised at 31 March 2013.
The amount recognised should be the best estimate of the expenditure recognised to settle the present obligation at the end of the reporting period.
With the presumption that the ratio of expenditure incurred to the sales of the past five years is a reliable estimate of the amount to be incurred for repair services, XP should adjust downward the provision to an amount ranging from HKD2.80 million (HKD437 million × 0.64%) to HKD4.37 million (HKD437 million × 1%).
OR
Assuming 0.8% of the sales is considered to be the best estimate of the amount to be incurred for the repair service, XP can adjust downward to approximately HKD3.5 million (437 million × 0.8%).
Litigation provision

XP is considered to have an obligation to compensate the plaintiff that arises from a past sales transaction.
The compensation of cash payment represents a transfer of economic benefits for XP.
It is presumed that XP could make an estimate of the compensation amount taking into consideration the offer given by XP and counter-offer from the plaintiff approved by the Board.
The payment made in April is an adjusting event after the reporting period.
Conclusion:

The provision should be adjusted downward to HKD5,650,000, i.e. HKD5 million compensation to plaintiff and HKD650,000 legal fee for provided services.
	Examiner’s comment:

This question required an assessment of the appropriateness of the amount of provisions recognised for three events/transactions. The majority of the candidates either stated the three conceptual recognition criteria of the standard or repeated the facts given in the case background. Not many candidates could link up the two together to explain why a provision is needed or not needed and what range of provision is considered appropriate if a provision is justified. No full or high marks could be gained without an organized answer with logical reasons.


(b)

Disagree with the comment.
No provision should be recognised at 31 March 2013 for the cost of television advertising to be launched after the end of the reporting period because:
The agreement is executory and XP had no present obligation (or XP had future obligation only) for the future services to be received from the counter-party.

HKAS 37 does not allow artificial “smoothing” of results by early recognition in the profit or loss before the costs are actually incurred.
	Examiner’s comment:

This question asked the candidates to assess another scenario for the appropriateness of recognition of provision for a future obligation. Not many candidates could identify it is a future obligation and thus no provision, no matter partially or fully, could be recognised at 31 March 2013.


Answer 4
New plant

HKAS 37 Provisions, Contingent liabilities and Contingent assets states that a provision should be recognised if:

· There is a present obligation as a result of the past event;

· It is probable that an outflow of resources embodying economic benefits will be required to settle the obligation; and

· A reliable estimate can be made of the amount of the obligation.

In this case, the obligating event is the construction of the new plant. The operating licence has created a legal obligation to incur the cost of removal. The expenditure is probable and a reasonable estimate of the amount can be made.
Since PHL cannot operate the plant without incurring an obligation to pay for the removal, this expenditure is required in order to enable PHL to acquire economic benefits through the income generated from the product manufactured. Therefore, PHL should recognise an asset as well as a provision, and depreciate this asset over its useful life of 50 years.
HKAS 16 Property, Plant and Equipment specifies that the cost of an item of property, plant and equipment includes the costs of its dismantlement, removal or restoration, the obligation for which an entity incurs as a consequence of installing the item.
A provision should be recognised for the best estimate of the eventual costs that relate to the removal of the plant. These costs (HK$30 million, at net present value as at 1 January 2016) should be included as part of the cost of the new plant.
The costs that arise through the contamination resulting from the production of the cosmetic products for the current year (HK$600,000) are recognised as a liability when the cosmetic products are produced and hence contamination is made. The cost relating to the production contamination should be estimated over time based on the actual contamination, and it should be recognised as an expense for the period.
Therefore, the property, plant and equipment as at 31 December 2016 would show:
	
	HK$000

	Cost of new plant
	200,000

	Dismantle and removal costs (NPV at 1 January 2016)
	30,000

	Total cost for the new plant
	230,000

	Accumulated depreciation ($230m / 50 years)
	(4,600)

	Net book value as at 31 December 2016
	225,400

	
	

	The provisions as at 31 December 2016 would show:
	

	Provision for dismantlement and removal at 1 January 2016
	30,000

	Unwinding of discount ($30m × 6%)
	1,800

	Provision for dismantle and removal at 31 December 2016
	31,800

	Provision for restoration cost relating to contamination of the land
	600

	
	32,400

	
	

	The income statement for the year ended 31 December 2016 would show:
	

	Depreciation for the year
	4,600

	Unwinding of discount (finance cost)
	1,800

	Restoration cost due to contamination of the land
	600


	Examiner’s comment:

This question required candidates to advise as to the appropriate accounting treatment for the dismantle cost and restoration cost related to the construction of a plant. The performance was less than satisfactory. Many candidates focused on discussing the general concepts of property, plant and equipment but ignored discussing the provision which was specified in the question. Most candidates did not demonstrate their understanding of the unwinding factor and thus they did not mention anything about the finance cost in relation to the provision for dismantle and removal.


Answer 5
(a)
The closure of the manufacturing plant is one of the events under the definition of restructuring. For the recognition of a provision for a restructuring, two principal requirements to be met are that the entity has a detailed formal plan; and has raised a valid expectation in those affected that the plan will be carried out by starting to implement that plan or by announcing its main features to those affected by it under HKAS 37.72.
Despite the fact that FEL has decided on the closure of one of the manufacturing plants, without a public announcement to all its employees, there is no detailed plan with sufficient details to give rise to valid expectations in other parties that the entity will carry out the restructuring. The management decision to restructure taken on 1 December 2014 is not relevant as FEL has not started to implement the restructuring plan or announced the main features of the restructuring plan to those affected with sufficient detail. Accordingly, FEL should not make any provision as at 31 December 2014 in respect of the restructuring plan.
The operational costs are not liabilities for restructuring at 31 December 2014 as these expenditures are associated with the future conduct of the business. These should be recognised on the same basis as if they arose independently of a restructuring.
A restructuring provision does not include the cost of relocating continuing staff pursuant to HKAS 37.81.
Dismantling plant is a restructuring liability as it is necessarily entailed by the restructuring; and not associated with the ongoing activities of FEL pursuant to HKAS 37.80.
In addition, the decision on the closure of the manufacturing plants is an impairment indicator. The company should perform an impairment test and any impairment loss should be recognised in profit or loss for the year ended 31 December 2014.
	Examiner’s comments:

This question tested the candidates’ knowledge of accounting for restructuring provision under HKAS 37. However, most candidates applied the wrong accounting standards, such as discontinued operations or subsequent event accounting while some candidates only discussed the general principles of “provision”. During their analysis, they also omitted to mention the board decision or they combined three types of costs to draw a single conclusion without further details.


(b)
An onerous contract is defined as a contract in which the unavoidable costs of meeting the obligations under the contract exceed the economic benefits expected to be received under it. The unavoidable costs under a contract reflect the least net cost of exiting from the contract, which is the lower of the cost of fulfilling it and any compensation or penalties arising from failure to fulfil it.
As the manufacturing cost per Product X (HK$22) is higher than the revenue per Product X (HK$20), the supply contract is considered to be onerous and a provision should be recognised. FEL should recognise a provision for the onerous contract equal to the expected loss, i.e. HK$2 × 250,000 units of Product X (remaining quantities to be delivered: (100,000 × 3) – 50,000) = HK$500,000.
When FEL has notified the landlord about the early termination of the lease, FEL has established a constructive obligation. FEL should recognise a provision for the onerous contract equal to the non-cancellable lease payment, i.e. HK$80,000 × 36 months = HK$2,880,000.
	Examiner’s comment:

This question tested the candidates’ knowledge of accounting for provision and onerous contracts under HKAS 37. Some candidates were able to identify issues and commented properly while some applied the wrong accounting standards, such as revenue recognition or inventories. About one-third of the candidates did not attempt to answer this question.


(c)
A provision should be recognised by FEL for the warranty given to customers as past experience shows that it is probable that certain claims would be paid by FEL. The provision should be measured based on the estimation as at 31 December 2014, i.e. HK$10 × 80,000 units of Product Y = HK$800,000.
When there are actual claims from the customers, the payment is recognised as an utilisation of the provision on 15 January 2015.
FEL should not recognise the contingent asset on the reimbursement from the insurance company as at 31 December 2014 as this may result in the recognition of income that may never be realised.
Instead, FEL should recognise the reimbursement income from the insurance company on 15 January 2015 at the amount of HK$10 × 10,000 units of Product Y = HK$100,000 when the realisation of income is virtually certain.
	Examiner’s comment:

This question required candidates to discuss the accounting for warranty provision and contingent assets. Many candidates lost marks when they did not specify the year as the question required to advise as to the accounting implications for the year 2014 and the accounting implication was different for 2014 and 2015. In general, candidates were weak in this topic.


Answer 6

HKAS 37 Provisions, Contingent Liabilities and Contingent Assets describes contingent liabilities in two ways.
(a)
a possible obligation that arises from past events and whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the entity; or

(b)
a present obligation that arises from past events but is not recognised because:

(i)
it is not probable that an outflow of resources embodying economic benefits will be required to settle the obligation; or

(ii)
the amount of the obligation cannot be measured with sufficient reliability.
In Chrissy’s financial statements contingent liabilities are not recognised but are disclosed and described in the notes to the financial statements, including an estimate of their potential financial effect and uncertainties relating to the amount or timing of any outflow, unless the possibility of settlement is remote.
However, in a business combination based on HKFRS 3 (revised), a contingent liability is recognised if it meets the definition of a liability and if it can be measured.

The first type of contingent liability above under HKAS 37 is not recognised in a business combination.
However, for the second type of contingency, the acquirer shall recognise as of the acquisition date a contingent liability assumed in a business combination if it is a present obligation that arises from past events and its fair value can be measured reliably. Therefore, contrary to HKAS 37, the acquirer recognises a contingent liability assumed in a business combination at the acquisition date even if it is not probable that an outflow of resources embodying economic benefits will be required to settle the obligation. (HKFRS 3 (revised), para. 23)
Answer 7
1. Under HKAS37 ‘Provisions, Contingent Liabilities and Contingent Assets’, a provision should be made at the reporting date for the discounted cost of the removal of the extraction facility because of the following reasons:
(i)
The installation of the facility creates an obligating event
(ii)
The operating licence creates a legal obligation which is likely to occur

(iii)
The costs of removal will have to be incurred irrespective of the future operations of the company and cannot be avoided

(iv)
A transfer of economic benefits (i.e. the costs of removal) will be required to settle the obligation

(v)
A reasonable estimate of the obligation can be made although it is difficult to estimate a cost which will be incurred in twenty years time (HKAS 37 says that only in exceptional circumstances will it not be possible to make some estimate of the obligation).
2. The cost to be incurred will be treated as part of the cost of the facility to be depreciated over its production life.
3. However, the costs relating to the damage caused by the extraction should not be included in the provision, until the gas is extracted which in this case would be 20% of the total discounted provision. The accounting for the provision is as follows:
[image: image1.emf]
Note 2

A simple straight line basis has been used to calculate the required provision for damage. A more complex method could be used whereby the present value of the expected cost of the provision ($10m) is provided for over 20 years and the discount thereon is unwound over its life. This would give a charge in the year of $0·5m + $10m × 5% i.e. $1m.
Answer 8 – Gear Software

Report to the Directors of Gear Software plc
(i)
Cost centres

· HKAS 8 ‘Accounting Policies, Changes in Accounting Estimates and Errors’ sets out the principles relating to changes in accounting policies. It helps to determine the correct treatment in the case of the changes in the allocation of overheads and the accounting policy relating to the development of software.
· A change in accounting policy occurs when there is a change in the recognition, measurement and presentation of the item.
· A change in accounting policy should only be made if required by statute, or by an accounting standard setting body or if the change results in a more appropriate presentation of events or transactions.
· The accounting policies of the company should be the most appropriate to the company’s circumstances, giving due weight to the impact on comparability.
· Estimates are bound to occur in the accounting process and are required in order to enable accounting policies to be applied. Accounting estimates will be based on judgement and should ensure the truth and fairness of the financial statements.
· However, unlike a change in accounting policy, a change to an accounting estimate should not be treated as a prior period adjustment unless it represents the correction of a fundamental error. The effect of an accounting estimate change should be included in the income statement for the current period if it affects the period only or in the income statement of the future period also if the change affects both periods.
· The indirect overhead costs have been directly attributable to the two cost centres and have been included in the inventory valuation in the statement of financial position. There is no change in the recognition policy of the company as regards the overhead costs; all that has changed is the ratio/allocation of those costs from 60:40 to 50:50. Similarly the basis of measurement of the overhead costs does not appear to have changed.

· However, part of the costs relating to the sale of computer games is now being shown as part of distribution costs and not cost of sales and, therefore, this constitutes a change in the presentation of that cost which in turn represents a change in accounting policy. HKAS 8 states that if the change results in a more appropriate presentation and more relevant or reliable information about the financial position, performance or cash flows, then it constitutes a change in accounting policy.
· The direct labour costs and attributable overhead costs relating to the development of the games was formerly carried forward as work-in-progress. In the year to 31 May 2003, these costs have been written off to the income statement. This represents a change to the recognition and presentation of these costs and, therefore, is a change in accounting policy.
Details of any changes to accounting policies need to be disclosed in the financial statements. these details include:

(1)
the reasons for the change;

(2)
the amount of the adjustment recognised in net profit for the period; and

(3)
the amount of the adjustment in each period for which pro-forma information is presented and the amount of the adjustment relating to periods prior to those included in the financial statements.
· It appears that the first two items relating to the changes in accounting policy can be disclosed without too much difficulty. However, non-disclosure of the impact on the current year’s income statement of the write off of the development costs does not follow the guidance in HKAS 8.
(ii)
Computer hardware and revenue recognition

· The capitalisation of interest on tangible non-current assets, is permitted under HKAS 23 ‘Borrowing Costs’. This represents a change in the recognition and presentation of the tangible non-current asset and is, therefore, a change in accounting policy which requires disclosure.
· The change in the depreciation method does not affect the recognition and measurement of the asset, and represents a change in an accounting estimate technique which is used to measure the unexpensed element of the asset’s economic benefits.
· However, as depreciation is now being shown as part of costs of sales rather than administrative expenses, then this represents a change in the presentation of the item and is a change in accounting policy. A change in an accounting estimate is not normally a change in accounting policy. Disclosure of the change in policy will have to be made (see above).
· HKAS 8 states that a company should judge the appropriateness of its accounting policy against the objectives of relevance and reliability. A company should implement a new accounting policy if it is judged more appropriate to the entity’s circumstances than the present accounting policy.

· Thus, for the reasons of relevance, the company should adopt the normal industry approach which would constitute a change in the measurement basis and thus a change in accounting policy with the necessary disclosure taking place (see above). Also given the potential charge against profits under HKAS 37 below, then the new accounting policy might alleviate the impact of the provision.
(iii)
Provisions

· Under HKAS 37 ‘Provisions, Contingent Liabilities and Contingent Assets’, a provision should be made if

(1)
there is a present obligation as a result of a past event;
(2)
it is probable that a transfer of economic benefits will be required to settle the obligation; and

(3)
a reliable estimate can be made of the amount of the obligation.
· The assessment of a legal claim is one of the most difficult tasks in the area of provisioning because of the inherent uncertainty in the judicial process. A provision or disclosure could in fact prejudice the outcome of any case.
· A provision will be required if on the basis of the evidence, it can be concluded that a present obligation is more likely than not to exist (subject to meeting the other conditions).
· In determining whether a transfer of economic benefits is likely to occur, account should be taken of expert advice and the probability of the outcome determined. Only in rare cases will a reasonable estimate of the obligation not be possible.
· In the case of the invoice from the accountants, it seems as though the solicitors feel confident that the amount will not be payable and, therefore, it constitutes a contingent liability which, under HKAS 37, means that the estimated financial effects, any uncertainties relating to the amount or timing of any outflow, and the possibility of any reimbursement should be disclosed.
As regards the plagiarism case the following table illustrates the potential outcomes:
	
	
	Year
	PV at 5%
	Probability
	Total

	
	$000
	
	$000
	
	$

	Best case
	500
	1
	476
	30%
	142,857

	Most likely
	1,000
	2
	907
	60%
	544,218

	Worse case
	2,000
	3
	1,728
	10%
	172,768

	
	
	
	
	
	859,843


The most likely outcome seems to indicate that a provision for $907,000 is required whereas when probability is introduced then this is reduced to $859,843. The difference, considering that an accounting estimate has been used, is not material and, therefore, a provision of $860,000 should be made as this is based on a more ‘scientific’ approach.
(iv) HKAS 1
· A company should, under HKAS 1 ‘Presentation of Financial Statements’, prepare its financial statements on a going concern basis. HKAS 1 defines a going concern as an enterprise having neither the intention nor the need to liquidate or to cease its operations within at least 12 months from the balance sheet date.
· Management is required to assess the enterprise’s ability to continue as a going concern at each reporting period. If there are material uncertainties about a company’s ability to continue as a going concern then those uncertainties should be disclosed. Thus, the fears concerning the viability of the company in the event of the worst outcome of the court case may have to be disclosed.
Answer 9 – Wader

(a)

· Wader has to estimate the net realisable value (NRV) of the inventory and compare this to its cost as HKAS 2 ‘Inventories’ requires inventory to be valued at the lower of cost and NRV.
· NRV is the estimated selling price in the ordinary course of business, less the estimated cost of completion and the estimated costs necessary to make the sale.
· Any write-down should be recognised as an expense in the period in which the write down occurs. Any reversal should be recognised in the income statement in the period in which the reversal occurs.
· The list selling price should be reduced by the customer discounts as this represents the proceeds to be received when the sale is made.
· The warehouse overhead costs will be incurred regardless of how long the inventory is held and are not necessarily incurred to effect the sale.
· It is appropriate to include personnel costs in the estimate of NRV but only where they are necessary.
· In this case the variable component of personnel salaries (commissions) will be taken into account but not the fixed salaries as they are normal overheads and do not influence the sale of the product.
	
	$

	List price
	50

	Customer discounts
	(2.5)

	Commissions – sale
	(10.0)

	Net realizable value
	37.5

	
	

	Cost
	35.0


· No write down of this product is, therefore, required.

(b)

· HKAS 16 ‘Property, Plant and Equipment’ requires the increase in the carrying amount of an asset to be credited directly to equity under the heading ‘revaluation surplus’.
· The increase should be recognised in profit or loss to the extent that it reverses a revaluation decrease of the same asset previously recognised in profit or loss. If an asset’s carrying amount is decreased as a result of a revaluation, the decrease shall be recognised in profit or loss.
· However, the decrease is debited to equity (revaluation surplus) to the extent of any credit balance existing in revaluation surplus in respect of that asset. The buildings would be accounted for as follows:
	
	Year-ended
	

	
	31 May
	31 May
	

	
	2006
	2007
	

	
	$m
	$m
	

	Cost/valuation
	10
	8
	

	Depreciation ($10m/20)
	(0.5)
	(0.42)
	($8m/19)

	
	9.5
	7.58
	

	Impairment to profit or loss
	(1.5)
	
	

	Reversal of impairment loss to profit or loss
	
	1.42
	

	Gain on revaluation – revaluation surplus
	
	2.00
	

	Carrying amount
	8.0
	11.00
	


· The gain on revaluation in 2007 has been recognised in profit or loss to the extent of the revaluation loss charged in 2006 as adjusted for the additional depreciation (1.5 ÷ 19, i.e. $0.08m) that would have been recognised in 2007 had the opening balance been $9.5 million, and the loss of $1.5 million not been recognised.
· This adjustment for depreciation is not directly mentioned in HKAS 16, but is a logical consequence of the application of the matching principle and would be against the principle of HKAS 16 if not carried out.
(c)

· A provision under HKAS 37 ‘Provisions, Contingent Liabilities and Contingent assets’ can only be made in relation to the entity’s restructuring plans where there is both a detailed formal plan in place and the plans have been announced to those affected.
· The plan should identify areas of the business affected, the impact on employees and the likely cost of the restructuring and the timescale for implementation. There should be a short timescale between communicating the plan and starting to implement it.
· A provision should not be recognised until a plan is formalised.
· A decision to restructure before the balance sheet date is not sufficient in itself for a provision to be recognised.
· A formal plan should be announced prior to the balance sheet date.
· A constructive obligation should have arisen. It arises where there has been a detailed formal plan and this has raised a valid expectation in the minds of those affected.
· The provision should only include direct expenditure arising from the restructuring.
· Such amounts do not include costs associated with ongoing business operations. Costs of retraining staff or relocating continuing staff or marketing or investment in new systems and distribution networks, are excluded.
· It seems as though in this case a constructive obligation has arisen as there have been detailed formal plans approved and communicated thus raising valid expectations. The provision can be allowed subject to the exclusion of the costs outlined above.
· Although executory contracts are outside HKAS 37, it is permissible to recognise a provision that is onerous. Onerous contracts can result from restructuring plans or on a stand alone basis.
· A provision should be made for the best estimate of the excess unavoidable costs under the onerous contract.
· This estimate should assess any likely level of future income from new sources. Thus in this case, the rental income from sub-letting the building should be taken into account. The provision should be recognised in the period in which it was identified and a cost recognised in the income statement.
· Recognising an onerous contract provision is not a change in accounting policy under HKAS 8 ‘Accounting Policies, Changes in Accounting Estimates and Errors’.
The provision will be the lower of:

	
	2008
	2009
	Total

	Scenario 1
	$
	$
	$

	Rent
	150,000
	150,000
	

	Discount rate
	1.05
	1.052
	

	Present value
	142,857
	136,054
	

	Sub-let income
	(100,000)
	(95,238)
	

	
	42,857
	40,816
	83,673

	
	
	
	

	Scenario 2
	
	
	

	Rent
	270,000
	
	

	Discount rate
	1.05
	
	

	Present value
	257,142
	
	

	Sub-let income
	(100,000)
	
	

	
	157,142
	
	


Therefore, the provision would be $83,673 as this course of action would be more beneficial to the company.
Answer 10 – Greenie

HKAS 37, states that an entity must recognise a provision if, and only if:

(i)
a present obligation (legal or constructive) has arisen as a result of a past event (the obligating event),

(ii)
payment to settle the obligation is probable (‘more likely than not’), and

(iii)
the amount can be estimated reliably.
An obligating event is an event that creates a legal or constructive obligation and, therefore, results in an entity having no realistic alternative but to settle the obligation.

At the date of the financial statements, there was no current obligation for Greenie. In particular, no action had been brought in connection with the accident. It was not yet probable that an outflow of resources would be required to settle the obligation. Thus no provision is required.
Greenie may need to disclose a contingent liability. HKAS 37 defines a contingent liability as:
(a)
a possible obligation that has arisen from past events and whose existence will be confirmed by the occurrence or not of uncertain future events; or

(b)
a present obligation that has arisen from past events but is not recognised because:

(i)
it is not probable that an outflow of resources will occur to settle the obligation; or

(ii)
the amount of the obligation cannot be measured with sufficient reliability.
HKAS 37 requires that entities should not recognise contingent liabilities but should disclose them, unless the possibility of an outflow of economic resources is remote. It appears that Greenie should disclose a contingent liability. The fact that the real nature and extent of the damages, including whether they qualify for compensation and details of any compensation payments remained to be established all indicated the level of uncertainty attaching to the case. The degree of uncertainty is not such that the possibility of an outflow of resource could be considered remote. Had this been the case, no disclosure under HKAS 37 would have been required.
Thus the conditions for establishing a liability are not fulfilled. However, a contingent liability should be disclosed as required by HKAS 37.
The possible recovery of these costs from the insurer give rise to consideration of whether a contingent asset should be disclosed. Given the status of the expert report, any information as to whether judicial involvement is likely will not be available until 2011. Thus this contingent asset is more possible than probable. As such no disclosure of the contingent asset should be included.
II.
Events after Reporting Period (HKAS 10)

Answer 11
(a)

This is an adjusting event under HKAS 10. SW should reverse the recognition of the HK$8 million sales during the year ended 31 March 2012 and record the inventory as the lower of cost and net realisable value after considering the rework cost because:

· The notice from the customer on 3 April 2012 has indicated that the goods received on 25 March 2012 were not accepted, being an event after the reporting period that provided evidence of conditions [of goods] that existed at the end of reporting period. SW accepted the complaint of the customer and has replaced the goods shipped after the reporting period.

· The customer confirmed only the acceptance of the replaced goods, which was after the reporting period.
	Examiner’s comment:

The question tested the candidates’ understanding of HKAS 10, events after the reporting period. Part (a) was an adjusting event scenario. Both parts (b) and (c) were non-adjusting event cases. Performance was less than satisfactory. Candidates who failed to interpret the event as adjusting vs. non-adjusting scored poorly. There were answers with the correct statement of the events but with confused explanations for the reasons behind them and the corresponding adjustment, which also led the markers to assess the competence of the candidates as unsatisfactory.

The performance in this part was relatively better with more candidates able to identify the event is an adjusting event and provide a logical explanation. A more comprehensive answer would have been to explain the adjustment to the inventory at the end of the reporting period as a result of the reversal of the sales transaction.


(b)
This is a non-adjusting event under HKAS 10. SW should recognise the HK$3 million (20% of HK$15 million) compensation for the breach of contract in the period subsequent to 31 March 2012 because

· The sales orders were received and the sales contracts were signed before the end of the reporting period.

· There was no indication that SW would fail to fulfil the sales orders at the end of the reporting period. The failure in the production and delivery of orders was due to the suspension of production from 15 April 2012, not a condition that existed at 31 March 2012.

If this event is considered to be material, SW should disclose the nature of the event and its financial effect in the notes to the financial statements.
	Examiner’s comment:

Candidates were able to point out that the shortage of electricity supply was a non-adjusting event. There were candidates, however, who thought that in addition a provision was required because the sales orders were received before the end of the reporting period. Such a mix of arguments resulted in a confused or inappropriate conclusion to the hypothetical event given.


(c)
This is a non-adjusting event under HKAS 10. SW should not recognise the HK$5 million subsidy as government grant in the year ended 31 March 2012 OR SW should recognise the subsidy as government grant in the period subsequent to 31 March 2012 because:

· Although it is possible to argue that there is reasonable assurance that SW would comply with the conditions attached (HKAS 20.7 (a)), i.e. the relevant employment period of local workers was the six months ended 31 December 2011 and the application for the subsidy was on 8 March 2012, which is during the year ended 31 March 2012.

· There was no reasonable assurance that the subsidy will be received (HKAS20.7 (b)) at 31 March 2012, i.e. the subsidy is discretionary and subject to approval by the local government which was obtained on 8 April 2012.
If this event is considered to be material, SW should disclose the nature of the event and its financial effect in the notes to the financial statements.
	Examiner’s comment:

Candidates focused on the employment of workers during the relevant period, but did not consider that the government subsidy was a discretionary one and subject to approval. The approval received after the reporting period is not an adjusting event.


Answer 12
(a)

This is an non-adjusting event under HKAS 10.
Given SAC declares dividends to holders of equity instruments (as defined in HKAS 32 Financial Instruments: Disclosure and Presentation) on 29 April 2014, it shall not recognise those dividends as a liability at the end of the reporting period (i.e. 31 December 2013) because no obligation exists at that time.
The amount of dividends proposed or declared before the financial statements are authorised for issue but not recognised as a distribution to owners during the period, and the related amount per share are disclosed in the notes in accordance with HKAS 1.137.
	Examiner’s comment:

This question required the candidates to determine whether the final dividend declared after the end of the reporting period was an adjusting or non-adjusting event and explain the appropriate accounting treatment accordingly. The performance in this question was average. Some candidates could get almost full marks except that they failed to mention the relevant disclosures under HKAS 1. However, some candidates wrongly concluded that it was an adjusting event based on an incorrect rationale.


(b)
This is an adjusting event under HKAS 10.
The unauthorised building works were carried out during the year ended 31 December 2013 which provides evidence of the non-compliance that existed at the end of the reporting period.
Therefore, the cost of removal of HK$500,000 should be provided in the financial statements for the year ended 31 December 2013 while the maximum penalty of HK$400,000 is not required to be provided when the entity has rectified the illegal building works before the financial statements are authorised to be issued.
	Examiner’s comment:

This question required the candidates to determine whether the subsequent event was an adjusting or non-adjusting event and explain the appropriate accounting treatment accordingly. The performance in this question was below average.

Full marks were granted in some cases in which the candidates were able to explain the timing of different events and the relevant obligations to be borne by the entity.


(c)

The production lines for sale may be classified as assets held for sale under HKFRS 5. For assets to be classified as held for sale, there are two conditions: (i) the relevant assets must be available for immediate sale in its present condition and (ii) its sale must be highly probable.
It depends on whether the production lines are abandoned at year-end which are available for immediate sale in their present condition.
For the sale to be highly probable, HKFRS 5.8 sets out the following criteria:

(a)
the appropriate level of management must be committed to a plan to sell the asset and an active programme to locate a buyer and complete the plan must have been initiated;

(b)
the asset (or disposal group) must be actively marketed for sale at a price that is reasonable in relation to its current fair value;

(c)
the sale should be expected to qualify for recognition as a completed sale within one year from the date of classification; and

(d)
actions required to complete the plan should indicate that it is unlikely that significant changes to the plan will be made or that the plan will be withdrawn.
The probability of shareholders’ approval should be considered as part of the assessment of whether the sale is highly probable. If the management of SAC is the same as the shareholders of SAC or if there are any discussions with a majority of shareholders, the sale may be considered as highly probable.
	Examiner’s comment:

This question required the candidates to discuss the criteria of assets held for sale and apply them to the case. The performance was less than satisfactory. Some candidates misinterpreted this question and thought it was related to a subsequent event under HKAS 10 and that the "production line" is an "operation" instead of a group of assets. Most of them were able to mention the consideration of the shareholders' approval as this was given in the question but they failed to mention the conditions for the sale to be highly probable.


(d)

Financial Reporting

1.
The new Companies Ordinance (new CO), the 10th Schedule has been replaced by Schedule 4. Instead of a long list of specific items to disclose, Schedule 4 contains only 5 items.

Items to be disclosed under Schedule 4:
(i)
the aggregate amount of outstanding loans made under the authority of ss.280 and 281 (these are loans made to eligible employees to enable them to buy shares in the company);

(ii)
the financial statements have been prepared in accordance with the applicable accounting standards (as mentioned above);

(iii)
if a group produces consolidated financial statements, the following must be included in the notes to the consolidated financial statements:
· the parent’s company level statement of financial position; and

· a note disclosing the movement in the parent company’s reserves.
(iv)
the name of the parent undertaking and the parent undertaking’s country of incorporation or its principal place of business; and

(v)
auditors’ remuneration.
2.
New provisions are introduced in the new CO to allow a greater number of private companies to prepare simplified directors' report and financial statements under SME-FRS.

3.
The new CO adopts the concept of no-par value for all shares in Hong Kong companies. The concepts of “nominal value”, “share premium”, “capital redemption reserve” and “authorised share capital” are abolished.

4.
The entity has flexibility to choose whether to pay for redemptions or share buy-backs out of capital or distributable profits.

Directors' report

5.
A new “business review” section must be included in the directors’ report unless the company is exempt.

6.
Disclosure of significant transactions, arrangements or contracts entered into by the company, where a director has a material interest, has been moved to the financial statements and will therefore be subject to audit.
	Examiner’s comment:

This question required the candidates to be aware of the changes arising from the new Company Ordinance that has taken effect from 3 March 2014 in respect of financial reporting and the directors' report. The performance was below average. Some were unable to identify the change between the "old" and "new" Company Ordinance or they simply copied some administration procedures or some other areas from the new Company Ordinance which were irrelevant to the question.


Answer 13
(a)
This is a non-adjusting event as it does not affect the valuation of property or inventory at the year end. However, it would be treated as adjusting if the scale of losses were judged to threaten the going concern status of Waxwork.

It will certainly need to be disclosed in the notes to the financial statements, disclosing separately the $16m loss and the expected insurance recovery of $9m.

(b)

The sale in April 2009 gives further evidence regarding the realisable value of inventory at the year end and so an adjustment will be required.

If 70% of the inventory was sold for $280,000 less commission of $42,000, it had a net realisable value of $238,000. On this basis, the total cost of $460,000 should be restated at NRV of $340,000 ($238,000 / 70%). So inventory at the end of the reporting period should be written down by $120,000.

(c)

This change has occurred outside the period specified by HKAS 10, so it is not treated as an event after the reporting period.

Had it occurred prior to 6 May 2009, it would have been treated as a non-adjusting event requiring disclosure in the notes.

The increase in the deferred tax liability will be accounted for in the 2010 financial statements.
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